EUROPEAN COMPETITIONS

2025 – EUROPEAN FREESTYLE AND RHYTMIC TWIRL CHAMPIONSHIP

What will offer?

Event		Number per	age division
Freestyle Solo Women	3 Youth	3 Junior	3 Senior
Freestyle Solo Men	3 Youth	3 Junior	3 Senior
Rhythmic Twirl Women	3 Youth	3 Junior	3 Senior
Rhythmic Twirl Men	3 Youth	3 Junior	3 Senior
Freestyle Pair		1 Junior	1 Senior
Freestyle Team		1 Junior	1 Senior
Artistic Group		1: only on	e division

Schedule

Assumption:

- Total countries of Europe: Belgium, Bulgaria, Cezch Rep., Croatia, England, France, Germany, Hungary, Ireland, Italy, Moldavia, Norway, Scotland, Slovenia, Spain, Sweden, Switzerland, The Netherlands, The Wales
- For the schedule we consider: 35 FS Women Youth, Junior and Senior; 35 RT Women Youth, Junior and Senior; 10 FS Men Youth, Junior and Senior; 10 RT Men

Youth, Junior, and Senior; 15 Junior and Senior Freestyle Pair; 10 Artistic Group; 10 Junior and Senior Freestyle Team.

• We want to stay in 4 days competitions

Day 0								Opening Ceremony
Day 1	0	1	70	3.25	227.5	9:00 AM	12:47 PM	FS Women Youth/RT Women Youth - Prelim
	40	1	70	3.25	227.5	1:27 PM	5:14 PM	FS Women Junior/RT Women Junior - Prelim
	40	1	30	3.25	100.75	5:54 PM	7:34 PM	Freestyle Pair Junior/Senior Prelim
Day 2	0	1	70	3.5	245	9:00 AM	1:05 PM	FS Women Senior/RT Women Senior - Prelim
	30	1	20	3.25	65	1:35 PM	2:40 PM	FS Solo Men Youth/RT Men Youth - Prelim
	30	1	20	3.5	70	3:10 PM	4:20 PM	FS Solo Men Junior/RT Men Junior - Prelim
	30	1	20	3.5	52.5	4:50 PM	4:12 PM	FS Solo Men Senior/ RT Men Senior - Prelim
	40	1	10	5	50	4:52 PM	5:42 PM	Artistic Group - Prelim
Day 3	0	1	20	5	100	9:00 AM	10:40 AM	Freestyle Team Junior/Senior Prelim
	30	1	12	3.5	42	11:10 AM	11:52 AM	Freestyle Pair Junior/Senior - Final - Top 6
	60	1	40	3.25	130	12:52 PM	3:02 PM	FS Women Youth/RT Youth - Final - Top 20
	30	1	40	3.25	130	3:32 PM	5:42 PM	FS Women Junior/RT Junior - Final - Top 20
	30	1	6	5	30	6:12 PM	6:42 PM	Artistic Group - Final - Top 6
Day 4	0	1	40	3.5	140	9:00 AM	11:20 AM	FS Women Senior/RT Women Senior - Final - Top 20
,	30	1	12	3.25	39	11:50 AM	12:29 PM	FS Men Youth/RT Men Youth - Final - Top 6
	30	1	12	3.25	39	12:59 PM	1:38 PM	FS Men Junior/RT Men Junior - Final - Top 6
	30	1	12	3.5	42	2:08 PM	2:50 PM	FS Men Senior/RT Men Senior - Final - Top 6
	60	79	85	5	35	3:50 PM	4:25 PM	Artistic Group Final - Top 6
								Awards
								Closing Ceremony

The competition will take place the first week of July.

2026- 2028 – EUROPEAN TECHNICAL CHAMPIONSHIPS

What will offer?

Event		Number per	age division	
Solo Women B	3 Youth	3 Junior	3 Senior	
Solo Women A	3 Youth	3 Junior	3 Senior	3 Adult
Solo Women Elite *	3 Youth	3 Junior	3 Senior	3 Adult
Solo Men B	3 Youth	3 Junior	3 Senior	
Solo Men A	3 Youth	3 Junior	3 Senior	3 Adult
Solo Men Elite *	3 Youth	3 Junior	3 Senior	3 Adult
2 Baton W B	3 Youth	3 Junior	3 Senior	
2 Baton W A	3 Youth	3 Junior	3 Senior	3 Adult
2 Baton W Elite	3 Youth	3 Junior	3 Senior	3 Adult
2 Baton Men B	3 Youth	3 Junior	3 Senior	
2 Baton Men A	3 Youth	3 Junior	3 Senior	3 Adult
2 Baton M Elite	3 Youth	3 Junior	3 Senior	3 Adult
3 Baton W A *		3 Junior	3 Senior	

Event		Number pe	er age division	
3 Baton Men A		3 Junior	3 Senior	
Duet *	3 Youth	3 Junior	3 Senior	3 Adult
X-strut Women *	3 Youth	3 Junior	3 Senior	3 Adult
X-strut Men *		3 Junior	3 Senior	
Art. Twirl W B	3 Youth	3 Junior	3 Senior	
Art. Twirl W A	3 Youth	3 Junior	3 Senior	3 Adult
Art. Twirl W E *	3 Youth	3 Junior	3 Senior	3 Adult
Art. Twirl M B	3 Youth	3 Junior	3 Senior	
Art. Twirl M A	3 Youth	3 Junior	3 Senior	3 Adult
Art. Twirl M E *	3 Youth	3 Junior	3 Senior	3 Adult
Artistic Pair *	3 Youth	3 Junior	3 Senior	3 Adult
Twirl Team *		1: only on	e age division	
Dance Twirl Team *		1: only on	e age division	
Pom Pom *		1: only on	e age division	
Twirling Corps *		1: only on	e age division	

^{• *} European championship title will be assigned

Schedule

Assumption:

- Total countries of Europe: Belgium, Bulgaria, Cezch Rep., Croatia, England, France, Germany, Hungary, Ireland, Italy, Moldavia, Norway, Scotland, Slovenia, Spain, Sweden, Switzerland, The Netherlands, The Wales
- For the schedule we consider 10 countries with full contingent
 - 30 athletes for each division on Solo, 2 Baton, 3 Baton, Artistic Twirl, Artistic Pair, Duet,
 - o 10 for Pom Pom, Twirl Team, Dance Twirl Team, Twirling Corps
- We set up the schedule with 8 lanes for Solo, 2 Baton and 3 Baton that means to have almost 40 judges) and 6 for Artistic Twirl, Artistic Pair, Duet.
- We want to stay in 5 days competitions

Day 1						8:30 AM	9:15 AM	Opening Ceremony
	0	1	90	3	270	9:45 AM	2:15 PM	Solo Women/Men Youth/Junior/Senior/Adult - Prelim Break
	45	1	30	3	90	3:00 PM	4:30 PM	Duet Youth/Junior/Senior/Adult - Prelim Break
	45	1	30	3	90	5:15 PM	6:45 PM	Artistic Pair Youth/Junior/Senior/Adult - Prelim
Day 2	0	1	90	2.67	240.3	9:00 AM	1:00 PM	2 Baton Women/Men Youth/Junior/Senior/Adult - Prelim Break
	30	1	30	2.67	80.1	1:30 PM	2:50 PM	3 Baton Women/Men Youth/Junior/Senior/Adult - Prelim Break
	30	1	30	3	90	3:20 PM	4:50 PM	Solo Women/Men Youth/Junior/Senior/Adult - Final Break
	40	1	10	3	30	5:30 PM	6:00 PM	Duet Youth/Junior/Senior/Adult - Final
Day 3	0	1	120	3	360	9:00 AM	3:00 PM	AT Women/Men Youth/Junior/Senior/Adult - Prelim Break
	30	1	30	2.75	82.5	3:30 PM	4:52 PM	X-strut Women/Men Youth/Junior/Senior/Adult - Prelim Break
	30	1	10	5	50	5:22 PM	6:12 PM	Twirl Team - Prelim
	30	1	10	5	50	6:42 PM	7:32 PM	Pom Pom - Prelim Award Solo, Duet
								, mara core, bact
Day 4	30	1	30	2.67	80.1	9:00 AM	10:20 AM	2 Baton Women/Men Youth/Junior/Senior/Adult - Final
	10	1	10	2.67	26.7	10:30 AM	10:56 AM	3 Baton Women/Men Youth/Junior/Senior/Adult - Final Break
	30	1	10	3	30	11:26 AM	11:56 AM	Artistic Pair Youth/Junior/Senior/Adult - Final Break
	30	1	10	5	50	11:26 AM	12:16 PM	Pom Pom - Final Judges Reset
	30	1	10	5	50	12:46 PM	1:36 PM	Twirl Team - Final Judges Reset
	30	1	10	5	50	2:06 PM	2:56 PM	Dance Twirl Team - Prelim Judges Reset
	30	1	10	5	50	3:26 PM	4:16 PM	Twirling Corps - Prelim Award
								2 Baton, 3 Baton, Artistic PairPom Pom, Twirl Team
Day 5	30	1	10	2.75	27.5	9:00 AM	9:27 AM	X-strut Women/Men Youth/Junior/Senior/Adult - Final
	30	1	40	3	120	9:57 AM	11:57 AM	AT Women/Men Youth/Junior/Senior/Adult - Final Break
	30	1	10	5	50	12:30 PM	1:20 PM	Dance Twirl Team - Final
	30	1	10	5	50	1:50 PM	2:40 PM	Twirling Corps - Final
						3:00 PM		Awards
						4:30 PM		X-strut, AT, Dance Twirl Team, Twirling Corps Closing Ceremony
								· · · · · · · · · · · · · · · · · · ·

2027 – EUROPEAN FREESTYLE CHAMPIONSHIP

What will offer?

Event		Number per	age division
Freestyle Solo Women		3 Junior	3 Senior
Freestyle Solo Men		3 Junior	3 Senior
Freestyle Solo Women A *	3 Youth	3 Junior	3 Senior
Freestyle Solo Men A *	3 Youth	3 Junior	3 Senior
Freestyle Pair		1 Junior	1 Senior
Freestyle Team		1 Junior	1 Senior
Artistic Group		1: only on	e division

 ^{*} any European Champion Title will be assigned

Schedule

Assumption:

- Total countries of Europe: Belgium, Cezch Rep., Croatia, England, France, Germany, Hungary, Ireland, Italy, Norway, Scotland, Slovenia, Spain, Sweden, Switzerland, The Netherlands, The Wales
- For the schedule we consider: 30 FS Women A Youth, Junior and Senior; 15 FS Men A Youth, Junior and Senior; 35 FS Women Junior and Senior; 15 FS Men Junior and Senior; 15 Junior and Senior Freestyle Pair; 10 Artistic Group; 10 Junior and Senior Freestyle Team.
- We want to stay in 4 days competitions

Day 0								Opening Ceremony
Day 1	0	1	45	3.25	146.25	9:00 AM	11:26 AM	FS Women Youth A/FS Men Youth A - Prelim
	30	1	45	3.25	146.25	11:56 AM	2:22 PM	FS Women Junior A/FS Men Junior A - Prelim
	30	1	45	3.5	157.5	2:52 PM	5:29 PM	FS Women Senior A/FS Men Senior A - Prelim
Day 2	0	1	26	3.25	84.5	9:00 AM	10:24 AM	FS Women Youth A/FS Men Youth A - Final - Top 20/6
	30	1	26	3.25	84.5	10:54 AM	12:18 PM	FS Women Junior A/FS Men Junior A - Final - Top 20/6
	30	1	26	3.5	91	12:48 PM	2:19 PM	FS Women Senior A/FS Men Senior A - Final - Top 20/6
	30	1	30	3.5	105	2:49 PM	4:34 PM	Freestyle Pair Junior/Senior - Prelim
	30	1	10	5	50	5:04 PM	5:54 PM	Artistic Group - Prelim
								Awards Freestyle A - all divisions
Day 3	0	1	70	3.5	245	9:00 AM	1:05 PM	FS Solo Women Junior/Senior - Prelim
Day 3	30	1	30	3.5	105	1:35 PM	3:20 PM	FS Solo Men Junior/Senior - Prelim
	60	1	30	5.5	150	4:20 PM	6:50 PM	Freestyle Team Junior/Senior - Prelim
	00	'	30	5	130	4.20 FIVI	0.30 PIVI	rieestyle ream Juliioi/Semoi - Freimi
Day 4	0	1	40	3.5	140	9:00 AM	11:20 AM	Freestyle Solo Women Junior/Senior Final - Top 20
	30	1	12	3.5	42	11:50 AM	12:32 PM	Freestyle Solo Men Junior/Senior Final - Top 6
	30	1	12	3.5	42	1:02 PM	1:44 PM	Freeytle Pair Junior/Senior Final - Top 6
	30	1	12	5	60	2:14 PM	3:14 PM	Freestyle Team Junior/Senior Final - Top 6
	30	1	12	5	60	3:44 PM	4:44 PM	Artistic Group Final - Top 6
								Awards
								Closing Ceremony